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QUESTION 1

When configuring an IES spoke termination to a VPLS, what must be explicitly configured in order for the service to
come up? (Choose two.) 

A. MTU must match on both services, 

B. Mesh-SDP with matching vc-id configured, 

C. Spoke-SDP with matching vc-id configured. 

D. Spoke-SDP. 

Correct Answer: AC 

 

QUESTION 2

Which of the two following statements are TRUE? (Choose two.) 

A. When a Nokia Service Router is rebooted, the mirror destination and mirror source must be reconfigured 

B. A mirror destination is shut down by default on a Nokia Service Router. 

C. A mirror source is shut down by default on a Nokia Service Router. 

D. When a Nokia Service Router is rebooted, the mirror destination must be re-configured. 

E. When a Nokia Service Router is rebooted the mirror source must be re-configured. 

Correct Answer: BE 

 

QUESTION 3

Which of the following is a benefit of VPRN as compared to VPLS? 

A. Service providers can apply QoS, ingress/egress traffic shaping and policing on a per service basis. 

B. Different customers with overlapping address space can be accommodated. 

C. There is a clear demarcation of customer and service provider networks. 

D. Customers can connect to the same service using different subnets. 

Correct Answer: D 

 

QUESTION 4

Which of the following is NOT a benefit of "Hub and Spoke\\'\\' VPLS deployments? 
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A. They reduce the number of SDPs that need to be configured. 

B. They can be used to work around physical topologies that prevent a fully meshed deployment. 

C. They prevent loops that can be introduced by mesh deployments. 

D. They can simplify the implementation of security policy enforcement and packet inspection. 

Correct Answer: C 

 

QUESTION 5

Which of the following commands is used to configure the encapsulation type of an Ethernet port? 

A. configure ethernetencap-typedot1q|null|qinq port port-id 

B. configure service port port-id ethemetencap-typedot1q|null|qinq create 

C. configure port port-id Ethernet encap-type dot1q|null|qmq 

D. configure service service-id Ethernet encap-type dot1q|null|qinq create 

Correct Answer: C 
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